Practice using density to
investigate metals.

Copy this equation and then
pPractice punching this into your

calculator: ,
(0.0380) ( 8 ) 0 u(flg
3.14 ol e =
| 5 3 6.06
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Multiplication with units. Use a calculator. Your answer should have units wntten as
one or more words. Round to correct sig figs

»~

75 : '
., 35c'm =2 %_ 12grams" 1mL =
12.87 liters 11.7 grams

*594.4 grams 1mL

N vt‘({',}w
by 021  Numbers that are in a relatignship (use your common sense)

1
a. | & EGGS = _|_DOZENS d. 00 mL =" liters
b. 2 EYES=_|_ HUMAN e. | kilometers =199 nillimeters
c. 8B LEGS= | SPIDER f. 10€¢ yards =__\ ~football field
we 0 NH

II.  Rewrite the six numbers-in-relationships from above as ratios there are two versions of
< each, one an upside down version of the other.

12.€95¢
[ dozen )0 55 ).

a. ratios for eggs and dozens could be ( 2 e:ﬂ I3 |

b. ratios for eyes and humans could be (_‘Lfg;‘sn_) or ( 'zh:{éef )

.
C. ratios for mL and liters could be 000 ol ) or %‘T)
d. ratios for yards and fields could be _ﬁﬁL) or ( l 00 4 w I )

III.  Insert one of your ratios from above into each equation below in a way that the units will *
cancel. Use a calculator to write an answer that has correct UNITS and sig figs.

a. 22? eggs « (ll?_AoT;'g;) =% quc{\ 9.90 liters ((o:”—;:"-) = (\"\OOM"

b. 13 humans , (LEX_S_) =%e}§d. 55 fooiball s : (% = 5600 darJ-S

| humapn
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15. Estimate the level of liquid in the four containers. Remember: read between the lines and add only ONE
MORE digit

. W,

V.  Equalities based on metric system and on the graph shown here:
a. Slope of A 7 4

L«{ A | 4

® % L &
2 P T Te
b. Slope of B L ' A 1/,
Ay 20 3tems 205
B 3 7
X 2 cm s = :
volume (cm®) |

V.  Use your two slopes from the graph to write ratios
a. Two ways to write a ratio based on the Slope gf Line A are

HO rams
3w ) or (—rm—)

b. Two ways to write a ratio based on th Slope of Line B are -

(28 or (-

c. Two ways to write a ratio based on the Sq pe ot"s Line C are
| . G08 =
ASS el e

VI Insert one of your ratios from above into each equation below in a way that the units will cancel. Use a
calculator to write an answer that has correct UNITS and sig figs.

) ooy 2 3
a. I‘.ZScm’ol‘“A"!(’-%:;i :3 & B"4Sg°f“,B“ ( fb) 0.04&,‘,0,05%

e s (—222%0) _ 4 o3
b. 4.50 gof“A”, ( 3(; ) 0%5?5 ﬂg‘mg 2

‘h;w
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Write each number in standard format.

1) 1182 x10' = \15672.0000,

2) 7.043 x 10 =0.000[)-_]qu\
3) 75777 x10° 00000600 0 STy

2 WLUT Z2h0f
4) 80217 x 10
5) 7.1378 x 10"
6) 4326 x 10
7) 836 x10°
8) 392 x10°
9) 567 x10°
10) 11318 x 10~ '
1) Whatis the of water. jn container 1? -
Volume: ZS'LML :‘
2) ‘=
= up
3) - QE
=t 3. las 4

4) Calculate the volume of a block that has the dimensions:
L=6.20 cm, W=525cm, H=1.00 cm
Show your calculations and present your answer to the proper precision (number of significant digits).
Remember to show the units on your answer.

V= WA
\]-:
\]:



5) If the density of a substance is 6.505 ;ig and the volume of a sample of this substance is 13.1cm3, what

10 tha mace afthin camalad

-~ 3/ G05y
[;3;5"51,‘{%10)-&“3‘;3"9 LR e

6) A piece of paper is known to have an area of 30.2 cm2 and has a volume of
0:06¢3 cm?3. Wh%t is the thickness of this paper?
m
/
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Write each number in scientific notation.

11) 529000000 D, Lo 108 .

12) 529 . 1599 |o? .
13) 982,05 = (1.3'2;* !(): :

14) 7009000000,

15) 2068.9

16 ) 8020000

17 ) 0.0000003910
18 ) 0.0008839

19 ) 0.00000399250
20 ) 0.0002867




